1248 sHEEE ES =
~ X B &
H & 2015411 A 22 B (H)9:00 [ Aamm | Hhx3 | 2% FREATFRAR T v I—15
x % £ | EyFikEE ANT%E 2EEZ | RE g8 & m:m |
T B EH ¥ HE & HIES NS FHh%E M |
Bl & FE &= /ER & ] TE T
S -V% 2. B 1 %8 1 0 % &
Wi |u‘| —
BRHXZE 3 1 BRIT23FC
KICK OFF | 2 2% H 0 i €CK OFD
X K a1—hk 5 . E| & |FE . =l a—Fh X
&5l 5| 90| 75| 60| 45| 30| 15| 5| = £ F A 5 & |& 2 F A m|st| 15[ 30| 45[60]75]|90] 4 |ES]
HT 0 %% TH | 16|GKIGK| 1 A E— 0
12[HT 0 o ME 2 |DF]DF]| 5 FER B 0 68
HT 0 Bl BE 3 [DF|DF]| 6 Fik Ed 1 1 68
HT 0 ®E hE 4 [DF|DF[17] &K X 1 1 68
69 0 J\fa X% [12|DF|DF[16|] #EH =K 0 HT
HT 0 B Bt 5 [MFIMF] 2 T H IEH 1 1 68
HT 0 B (RE 6 [MFIMF| 32| 1ER FF 0 68
HT 0 Ag KER [ 13|MF|mF| 7 WA #KF 113 1i1]1 68
HT 0 Ml B [ 14|MFMF] 10|  ¥ERE EBEk 0 HT
9 [HT[ 1 1 2471 ww &S [11[Fw]Fw] 8 BE WA 1 1 68
69 1 1] 2 =X i 9 [FwWlFw] 11 HAf B 1 1 68
16 0 FR BE& |21|GK|DF| 3 Fll &R 0 6
3 0 #k #an  [15|DF|DF[ 19| HEH iBFE 0 16
m 0 BEA IEA |17|DF|DF|24| ik =% 0 17
2 0 7Ll F}nﬂz 18| DF|DF| 28| Ef7 ikt 0 5
13 1i2 3|1 mH —&  [19[MFIMF]12] £AK Xig 0 7
5 0 %D BEAE [20[MFIMF] 13 BH 0 2
6 1 1 £ RX | 23|MF|MF| 20| BH EE 0 10
14 1 1 HR $men | 24|MFIMF] 27] S8 f#X 0 32
11 2 2| 1 =] 25 [Fw]Fw| 25 M EXR 1 1 11
FW| 26 BEE 0 8
Z & 85 E B E B T Z. 5 &
G EEES K % Trep EER PhE & G EEES K 4
2RB[1AH F—LEEH 1AXB|2&XB
9 4 13 [Sa—Fk] 9 6 3
4 6 10 G K 2 0 2
4 2 6 C K 2 1 1
0 4 4 | EEFK| 11 7 4
4 2 6 | REFK]| 2 2 0
4 2 6 | @G| 2 2 0
0 1 1 P K 0 0 0
KEES

GEN 71'7"1'4I~°$Fﬂ0)§51—"7'3(d: Fa‘i?%?') #;9;&0)5% T?*}%PI‘J:%%(D%%L’CL\%M

[ZL£ER] Cl:RAKR—

[R15IEA] S1:%L,<7FIE7&7’I/( SZ.EL%&?‘TZ—.‘:“ SS.’Jld:ﬂi%‘ S4.15'r,#\1‘§%%ﬂﬁ1t($) . 85.1%,%1%‘%@&(1&) . SG.{§’§~ CS%%Z@

RS [ F— L Ba T AR BARBB (~:FUTIL, = H5H9URRR, 1 RERSR, S:oa—k HiAF4LY)
18 | W23 [ 7 ¢ UK #HFE |10: IHE BH E-1i 10 1 i1t 7 PARS

47 BXx [1i LR BR PK 11 i ERS

77 BX |23 B i 23 {EfE RXK -3 20 — ifhge-2: 23 — ifhs-1i 25 (HES

91 BX |19 m# —& |25 ® A hg-2: 25 — ithg-1i 19 i EHRES




3K H SEERE x =
» X R
B B 2015511 H 22 H(H)9:00 [ SAERE | 4Hh %3 | =ha FRREHATRAR T V15
X & £ |EvyFREAIZ 2ERZ [ R@E 718 JE] A e
e JEHE % HIES HE &
HIES FR 2% 28 | TE FE
BEE B/ BESR 3 (2% 1 BHAEE
Y] 4 ) —
BREAXE 6 1 B I23FC
KICK OFF ! 3 3KH 0 i &ICK OFD
X K a—Fh = . | i |T N 5 a—hk X
EE B 45|30 15| 5| & £ F A 5 B |& £ F 4 = [&t] 15[ 30] 45 2 &4
0 INE FA 21 [GKJGK] 1 X #£— 0
0 =N EARER [20|DFIDF| 28| ERE i#tbw 0
0 ga Ak #%r | 15|DF|DF| 3 fill &R 0
0 BEAR A |17|DF|DF| 24| {BEE ER 0
0 Al FE 18|DF|DF| 20| &# Er= 0
1 1 ik ®X | 23|MFIMF]27] £B X 1 1
0 Bl B=E 3 |MFIMF| 12| #K XiE 0
111 #]AR Bt 5 [MFIMF| 29| FEi#E ¢ 0
2 2 HLR $men | 24|MFIMF] 19|  MEH BT 0
1: 4 5[ 2 i i 25 |FWJFw| 25 M EK 1 1 42
1 1| 1] ™H —& |19|FWIFW| 26 BmEE 0
FW[ 13 =H 0 25
= L -R B B E B = L -R B
B | K £ reh SEER FhA & BFRS | R K 4
3A&B[2K&HE F—LEEF 124 E3ARH
10 13] 23 [<a—F] 11 9 2
5 10 15 G K 5 2 3
1 6 7 C K 2 2 0
2 4 6 | E#EFK]| 16 11 5
0 6 6 | REFK| 2 2 0
0 6 6 |G| 2 2 0
1 1 2 P K 0 0 0
Hs&]

GE) AT AFHEOBFIE. BET)—FvI8D5E. AT AFIZ&DEDERLTIVD,
[ZEEA] ClLRAKR—YMITE. C257F L1, CIEE. C4EVIRLDER. C5:BEITA. CoIBEERE. CT-EFAI A, Ce: A A

| F— L BRE FOXR BRBEB (~ FUI L. = TSI RN, | B AR S Do H~TAD)
28 BX |25 h®-3; 19 — iFR-2: 25 ~ PRI HES
35 BX |25 PK 25 iHES
40 BX |19 wH —& |23 kil RX thf-2i 23 — irhg-1i 19 i EBRES




